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09 2HAHAEXS ,800,000 1,700,000 100,000
0O st= . B SA RIEEXS ,800,000
dx & 67,661 122,754 A 55,093
101 @14 Hl 52,891 47,479 5,412
04 DIt Z2XRHEE S 52,891 47,479 5,412
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A4
nESHEE
DEHEH

A - ER(EN) - AR - B of & o4 SSa HIDZ2
101 @124 H] 11,667 12,473 A 806
04 DIt Z22XsSE+ 11,667 12,473 A 806

0ATHAN DSAUE A=Y
38,890 » 20 = 15 11,667
201 fEt2E | 71,000 73,670 N2,670
01 At2 2t 2l bl 17,000 19,670 N2,670
0 ASUASESAE MA 505, DKM, HaA 2
= 13,000
0 =&l 4,000
02 524t 50,000 50,000 0
0332= % HMAl 50,000
03 A2 4,000 4,000 0
0 SN WSUHH 2H|
1,000,000& = 43| 4,000
202 044l 20,640 14,880 5,760
01 =L 15,840 10,560 5,280
0 2tLHO bl 170,000 * 6% * 128 12,240
0 22104l 50,000& = 6% * 12& 3,600
02 EA0dtl 4,800 4,320 480
0 =8 3N HE3R2
200,000& » 28 = 12& 4,800
301 LprE A3 9,600 9,600 0
10 #AIAHI 28 = 8,000 8,000 0
0 SN NSSAHA &HI2Y 8,000
12IIEtE 4= 1,600 1,600 0
0 RPHEXXY M2 80,0002  20CH 1,600
Hld 4283 250,674 250,674 0
S 70,000
[a 180,674
307 212t0l & 250,674 250,674 0
£ 70,000
[a 180,674
092+ HEXS 250,674 250,674 0
08Xl =A24Z3(151km) 250,674
= 70,000
s 180,674

Hsusgds 144,538 0 144,538
101 @i 28] 144,538 0 144,538
04 JINHI2NEES 144,538 0 144,538

0 HAQHH =<0l 2124H/(8Y) 139,738
o Jles 38,890% = 8% * 300 93,336
o FRdH 38,890% * 8% * 60€ 18,668




EXN: A4
M NESSAF
Sel DEBF (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o ElRessdsY 3,734
o XA 24,000
022 ¢ 4,800
WEAE=S 22l 352,000 300,000 52,000
401 AlEHIZ 2 0HY| 352,000 300,000 52,000
01 Al& b 350,000 300,000 50,000
0 WECHH AAEZ 22 350,000
o pNSIY HFES FHH| 150,000
o WEoHNM E X &X 100,000
o JIEIAIEE & RAEL 22| 100,000
03 AlE 21| 2,000 0 2,000
0 Al 2 0HHI 2,000
olsSE ZZEA 15,000 28,000 A 13,000
402 SI2v X0l & 15,000 0 15,000
01 QI2tXE8 X 15,000 0 15,000
0 BHAIG A DIZ2 XK (7500) 15,000
WECH X2 3,800 4,000 A 200
307 2Iz2t0| & 3,800 4,000 A 200
03 AISISHHIE X2 3,800 4,000 A 200
0 olsx 2EH2HI3 3,800
IEZM =2 K& 1,000 0 1,000
& 1,000
402 212t X =0 & 1,000 0 1,000
& 1,000
01 QI2t X2 X 1,000 0 1,000
0JIEZM =22 XA (82L4) 1,000
o= 1,000
SEYUAHIETIL2IEH 20,000 0 20,000
207 30 & 20,000 0 20,000
02 & A 2| 20,000 0 20,000
0 EEAIYE HEZCIAIAE DY 20,000
SsHEHA WEXEZ 200,000 200,000 0
o= 100,000
= 100,000
307 212t0| & 200,000 200,000 0]
=} 100,000
= 100,000
09 2L AHEXZ2 200,000 200,000 0
0 sOHE HA 2 sABAZ 200,000
& 100,000
= 100,000
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